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QUESTION 1

How should a developer configure the replication agent to flush the dispatcher cache for a newly activated page? 

A. Set the serialization type property of the default agent to dispatcher flush. 

B. Create a new replication agent and set transport URI to point to the dispatcher. 

C. Create a dispatcher flush agent in publish instance. 

D. Create a reserve replication agent on the author instance. 

Correct Answer: B 

Reference: https://helpx.adobe.com/experience-manager/6-3/sites/deploying/using/
replication.html#ConfiguringyourReplicationAgents 

 

QUESTION 2

The dependency of an AEM project fails when a developer configures using Apache Maven. Refer to the error
information below. 

What should a developer add to the pom.xml to fix the Maven build? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 
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QUESTION 3

A developer needs to install a content package on AEM environment. However, a content package with the same name
is already installed. 

What would you be the safest way for the developer to install the content package to make sure only the changes of the
new content package get applied? 

A. Use the "Force Upload option when uploading the new content package. 

B. Uninstall the existing content package before installing the new content package. 

C. Upload the content package to the CRX Package Share before installing it. 

D. Install the content package using the OSGi web console. 

Correct Answer: D 

Reference: https://helpx.adobe.com/experience-manager/6-3/sites/administering/using/packagemanager.html 

 

QUESTION 4

A developer creates the following code snippet to implement a simple polling importer to fetch stock prices from an
external source: 
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The polling importer needs to fetch stock prices for a specific stock symbol and needs to be triggered every 5 minutes. 

Which node structure should the developer create in CRX to make sure that the code shown is executed successfully? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 5

A developer must create a workflow step that assigns a `WorkItem\\' to the appropriate person based on 

who has the least amount work to do. 

The group that must perform the action is configured into the workflow. 

Which non-deprecated interface should the Java implementation class use to perform the assignment? 

A. com.adobe.granite.workflow.exec.ParticipantStepChooser 

B. com.day.cq.workflow.exec.ParticipantChooser 
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C. com.day.cq.workflow.exec.WorkItem 

D. com.adobe.granite.workflow.exec.WorkflowData 

Correct Answer: B 

Reference: https://docs.adobe.com/content/help/en/experience-manager-64/developing/extending-aem/ extending-
workflows/workflows-step-ref.html 
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